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1.   Find the indefinite integrals, where u = f (x): 

 

1.1     'u .u dx
 :    1.1.1 5x dx    

1.1.2  
( )

( )3

sen x
 dx

cos x  

1.1.3  
4

4

2 1
 dx

x −
  

 

1.2     
'u
dx

u :    1.2.1 
1

1
 dx

x+    

1.2.2  
2

4 8

3 12

x
 dx

x x

−

−  

1.2.3  
3

32

x
 dx

x

e

e+
  

 

1.3      1' u
\u .a dx , a +

 :  1.3.1 5x  dxe    

1.3.2  ( ) ( )xcos
sen x dx.e  

1.3.3  
2 14 7xx.  dx+

  

 

1.4     'u .sen( u )dx :       1.4.1 ( )2 6sen x dx−    

1.4.2  ( )2 2
x xsen dx+   

1.4.3  
( )sen ln 3x

 dx
x

  
  

 

1.5     
'u .cos( u )dx :    1.5.1 ( )2cos x dx    

1.5.2  ( )
dx

cos log x  
x

    

1.5.3  ( )2 2
1

x xe c os e dx+  
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1.6     ( )2'u .sec u dx :   1.6.1 
( )2 3

dx

cos x    

1.6.2  

( )2 1

xe
dx

xcos e +
  

1.6.3  
( )2

3sec x
dx

x

+

  

 

1.7     ( )2'u .cosec u dx :   1.7.1 
( )2 2

12

1 3

x
dx

s en x−
    

1.7.2  
( )2 11 xcosec e

dx
xe

− ++

  

1.7.3  
( )3 2

3

2
23cosec x

dx
x

+

  

 

1.8     
2 1

'u
dx

u +
 :    1.8.1 

2

4

3 2
 dx

x +    

1.8.2  
( )

( )2 1

cos x
 dx

sen x +  

1.8.3  
( )1

dx
 

x x +
  

 

1.9     
2 1

'u
dx

u +
 :    1.9.1 

2

1

1 4
 dx

x−
    

1.9.2  
29 4

dx

x−
  

1.9.3  

( ) ( )
221 1

dx
 

x artg x+ −   

  
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WORKSHEET SOLUTIONS 

 

1.1.1 
6

6

x
C+   1.1.2  

2

1

2
C

cos ( x )
+   1.1.3  

34

8

3 2 1
C

( x )
+

−
 

1.2.1 1log | x | C+ +   1.2.2  22 4 3log | x x | / C− +   1.2.3  32 3xlog( ) / Ce+ +  

1.3.1 
5 5xe / C+   1.3.2  C

cos( x )e +−    1.3.3  
2 12 7 7x. / ln( ) C+ +  

1.4.1 2 6 2cos( x ) / C− − +  1.4.2  2 2xcos( ) / ln( ) C+−  +  1.4.3   -cos ln(3x) C+  

1.5.1 2 2sen( x ) / C+  1.5.2   sen log( x ) C+   1.5.3  2
1 2xsen( e ) / C+ +  

1.6.1 3 3tg( x ) / C+   1.6.2  1xtg( e ) / e C+ +   1.6.3  32tg( x ) C+ +  

1.7.1 
22 1 3c otg( x ) C− +  1.7.2  11 xcotg( e ) / e C− ++ +  1.7.3  3 2

23 2cotg( x ) / C+ +  

1.8.1 
2 6 3

3 2
arctg  x C+

 
 
 

 1.8.2  arctg(sen( x )) C+   1.8.3  2arctg( x ) C+  

1.9.1 2 2arcsen( x ) / C+  1.9.2  2 3 2arcsen( x / ) / C+  1.9.3  arcsen( arctg( x )) C+  

 

 

 


